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Multiple Choice Questions (MCQs)
(for 1%t Term)
CLASS: |
SUBJECT: Mathematics
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Topic - Numbers

Tick the missing number —[2, 3, 4, 5,21 7]

(@5 (b) 1 (c)6 (d)o
Tick the smallest number —
(a) 85 (b) 76 (c) 89 (d) 65

g L || || n ®
Tick the numbers between - 3 1 1 6
@78 (b) 4,5 () 1,2 (d) 3,4
Which is the correct ordinal name of 392
(a) Third (b) Fourth (c) Three (d) Two
Tick the number before |:| 39,40is —
(a) 37 (b) 38 (c) 36 (d) 35
Count and tick the correctone— O OO O OO
(@) 6 (b) 4 (c) 11 (d) 7
Which is the correct one?
(@4 =] 9 (b)5[X] 5 (08 =1 d2[=]7
The number just before 18 is —
(a) 6 (b) 17 (©)9 (d)5
Count and tick the correcttens T O
(a) 3tens (b) O tens (c) 2 tens (d) 1ten
Which is the correct number name for (15) ?
(a) Fifteen (b) Seventeen (c) Thirteen (d) Nineteen
2 tens is equal to —
(&) Two (b) Twelve (c) Twenty (d) None
Tick the correct ordinal number for ‘Second’ —
(a) st (b) gth (C) ond (d) 3rd
The biggest number among 56, 28, 68 and 39 is —
(a) 56 (b) 28 (c) 68 (d) 39
Find the expanded form of 35 —
(a) 30+5 (b) 30+8 (c) 30+2 (d) 30+0
Find the standard form of ‘4 tens 6 ones’
(a) 64 (b) 46 (c) 40 (d) 36
Count by two’s and fill in the missing number — 2, 4, 6, 8, ? , 12,14
(a) 16 (b) 10 (c) 18 (d) 8
E is the fifth letter in the word —
(a) STEP (b) APPLE (c) ORANGE (d) HOMR
Tick the number that comes before 8, in words —
(a) Eight (b) Ten (c) Seven (d) Two
Tick the correct ordinal number name for 5" —
(a) Tenth (b) Fifth (c) First (d) Second
Put [> or <] correctly in the boxes 12[_] 18
(a) > (b) < (€)=

Topic — Addition & Subtraction

The sumof 4 +5is
(@3 (b) 7 (c) 10 (d)9
Which rectangle matches the number in the circle? (7)
(a) 8+0 (b) 3+2 (c) 3+4 (d) 2+2
| am a number just after 3+ 0
(a) 4 (b) 3 (c)2 (d)5
Use the number line to add 9 + 5.
(a) 10 (b) 14 (c) 12 (d) 11
Tick the correct one.
(a) 3+3 = (b) 4+4 = [8] (c) 3+0=[9] (d) 5+5 = [12]
10 girls are jumping rope. 10 more girls join them. Now, (] girls are jumping rope.
(a) 10 (b) 5 (c) 15 (d) 20
The sum of 2+3+2 is
(@) 8 (b) 5 (7 (d) 10
Compare. 15+0C ) 17+1
(a) < (b) > (€)=
What number is 5 more than 50?
(a) 60 (b) 55 (c) 60 (d) 65
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The sum of 40+50 is

(a) 100 (b) 70 (c) 90
The difference between 90-30 is

(a) 30 (b) 50 (c) 40
| am a number just before 10-1

(@) 10 (b) 9 (c) 8
On subtracting 40-40, we get

@1 (b) 0 (c) 20
Use the number line to subtract 18-4

NAEARER RN

(@) 22 (b) 21 (c) 15

Arun saw 16 ducks. 8 ducks Swam away. Now Arun can see [] ducks.

(a) 12 (b) 10 (c) 8
Compare 9-4C D 5+0

(a) < (b) = (c)>
Which of the following number sentence is correct?

(a) 10-10=20 (b) 15-4=11 (c) 9+3=15
The difference between 50-20 is

(a) 30 (b) 40 (c) 50
What number is 10 less than 100?

(a) 80 (b) 50 (c) 90

Which number can you subtract to get this difference?
(a) 40-15 (b) 50-15 (c) 70-20

Topic — Comparison & Multiplication

Tick the smallest one

2 OO (DO © QOO
Tick the longest one.

(a) pencil (b) eraser (c) sharpener
10 threes are

(a) 10 (b) 40 (c) 20

The product of 9x2 is

(a) 11 (b) 18 (c) 20

What will be the multiplication fact for 5+5+5

(a) 5x5 (b) 4x3 (c) 5%x2

4 fives are

(@) 20 (b) 2 ()5

Which of the following is correct for the picture given below?
000 | [000 |

(a) 4+4+4 (b) 3+3+3+3 (c) 5+5

The multiplication fact for the given group.

oe

(a) 2x5=10 (b) 5x5=25 (c) 3x2=6
A garden has 8 rows of 5 flowers each. How many flowers in all ?
(a) 48 (b) 36 (c) 30
The product of 7x1 is.

(@9 (b) 70 (7

9 sixes are

(a) 54 (b) 45 (c) 72

7 fours are

(a) 42 (b) 20 (c) 35

A bar of chocolate cost Rs.6. How much will 10 bars cost?
(a) 40 (b) 60 (c) 50

The addition fact for 2x7

(a) 8+8+8+8 (b) 2+2+2 (c) 7+7
Tick the thinnest one.

- J - / -
10 tens are
(a) 100 (b) 90 (c) 50
5 fives are
(@) 20 (b) 40 (c) 25
Complete the table of 4. 4, 8, 12, ,
(a) 32, 40 (b) 24, 28 (c) 20, 24
The product of 9x1 is
(a) 4 (b) 9 (c)8

The addition fact for the given group.
(a) 3+3 (b) 3+3+3 (c) 3+3+3+3

< »
< »

(d) 80
(d) 60
(d) 7

(d) 10

(d) 14

(d) 14

(d) 22-3=21
(d) 10
(d) 40

(d) 80-40

(d) 30
(d) 27
(d) 3x5

(d) 45

(d) 2+2+2

(d) 4x2=8
(d) 40
(d)8
(d) 90
(d) 28
(d) 90

(d) 9+9+9

(d) 40
(d) 50
(d) 16, 20

(d) 7

(d) 2+2



